Candle Center - Infinite Algebra 2

Planes

Find the intercepts for each plane.

1) —12x— 16y —16z=—-48

3) x+y—-z=2

Sketch each plane.

5) —8x+12y—127=24
A<

7) 3x—-2y+3z=6

AZ

~

Name

Date

2) 2x+y+z=-4

4) 4x+6y+3z=12

6) 4x+6y+3z=12

AZ

8) 3x+2y—-27=-6

4

4

Period



Sketch each plane and write the equation of each trace.

9) x+y—-z=3 10) —6x+3y+4z=12
AZ AZ
~ y ) ]
X 1 X T
Y Y
11) 3x—6y—4z=12 12) -3x+2y—-2z=6
AZ AZ
~ y ) v
X 1 X T
Y Y

Critical thinking questions:

13) Write the equation of a plane with the intercepts: 14) Write the equation of a plane with a

X-int =2 y-intercept of 2 and an XZ trace of 2x +z=38
y-int = -3
z-int =4



Candle Center - Infinite Algebra 2

Planes

Find the intercepts for each plane.

1) —12x— 16y —16z=—-48

x-int = 4; y-int = 3; z-int = 3

3) x+y—z=2

x-int = =2; y-int = 2; z-int = =2

Sketch each plane.

5) 8x+12y—-12z=24
AZ

<y

7) 3x—-2y+3z=6

Z

Name

Date

2) 2x+y+z=-4

x-int = —=2; y-int = —4; z-int = -4

4) 4x+6y+3z=12

x-int = 3; y-int = 2; z-int = 4

6) 4x+6y+3z=12

8) 3x+2y—-27=-6

Z

Period



Sketch each plane and write the equation of each trace.

9 x+y—-z=3 10) —6x+3y+4z=12
AZ XY:x+y=3 AZ XY:2x—y=-4
€ XZ:x—z=3 41 XZ:3x—2z=-6
YZ:y-z=3 YZ:3y+4z=12
” Y ~ y
X X 1
Y
11) 3x—6y—4z=12 12) -3x+2y—-2z=6
AZ XY:x-2y=4 AZ XY:3x-2y=-6
4 XZ:3x—4z=12 A1 XZ:3x+2z=-6
YZ:3y+2z=-6 YZ: y—z=3
- y - y
X T X ]
Y

Critical thinking questions:

13) Write the equation of a plane with the intercepts: 14) Write the equation of a plane with a

X-int =2 y-intercept of 2 and an XZ trace of 2x +z=38
-int = -3
)Z/—int=4 2x+4y+z=38

6x—4y+3z=12



